Zadania:

1.Dwie osoby o masach 50 kg i 40 kg siedzą w odległości 80 cm od siebie. Oblicz siłę grawitacji działającą między nimi? Wyjaśnij.
2.Znajdź siłę grawitacji działającą pomiędzy pojazdem kosmicznym o masie 10ton i kosmonautą o masie 70 kg, który znajduje się w odległości 5m od tego pojazdu?

Tasks:

1. There are two people weighing 50 and 40 kilos. The distance between them is 80 centimetres. What is the gravitational force between them? Explain.

2. What is the gravitational force between a spacecraft which weighs 10 tons and an astronaut who weighs 70 kilos. They are 5 metres apart. Explain.

Ewaluacja/Evaluation:

	
	Calculations / Obliczenia
	Explanation / Wyjaśnienie

	Task 1 / Zadanie 1
	2 points
	3 points

	Task 2 / Zadanie 2
	2 points
	3 points


	Mark / Ocena
	Score / Wynik

	Excellent / Celujący
	10 points

	Very good / Bardzo dobry
	8-9 points

	Good / Dobry
	7 points

	Pass / Dostateczny
	5-6 points

	Very weak / Dopuszczający
	3-4 points

	Fail / Niedostateczny
	0-2 points


